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60 = - 0.718 0.718 0.718 0.767 0.767 - 0.646 0.646 0.646 -
65 = - 0.670 0.670 0.670 0.719 0.719 - 0.606 0.606 0.606 -
70 = - 0.629 0.629 0.629 0.677 0.677 - 0.572 0.572 0.572 -
75 = - 0.592 0.592 0.592 0.640 0.640 - 0.541 0.541 0.541 -
80 = - 0.560 0.560 0.560 0.606 0.606 - 0.513 0.513 0.513 -
85 = - 0.531 0.531 0.531 0.576 0.576 - 0.488 0.488 0.488 -
89 = - 0.509 0.509 0.509 0.554 0.554 - 0.469 0.469 0.469 -
90 = - - 0.504 0.504 - 0.549 - - 0.465 0.465 -
95 = - - 0.481 0.481 - 0.524 - - 0.444 0.444 -
100 = - - 0.459 0.459 - 0.501 - - 0.425 0.425 -
105 = - - 0.439 0.439 - 0.481 - - 0.408 0.408 -
110 = - - 0.421 0.421 - 0.462 - - 0.392 0.392 -
115 = - - 0.404 0.404 - 0.444 - - 0.377 0.377 -
120 = - - 0.389 0.389 - 0.428 - - 0.364 0.364 -
130 = - - 0.362 0.362 - 0.398 - - 0.339 0.339 -
140 = - - 0.338 0.338 - 0.373 - - 0.318 0.318 -
150 = - - - 0.317 - - - - - 0.299 -
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20 = - -
25 = - -
30 - — _
35 - - -
40 - - -
45 - - -
50 - - -
55 - - -
60 - — _
65 = - -
70 - - -
75 - - -
80 - — _
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95 - - -
100 = - -




